F 295 B

2HAPHE— K

REt 4 49 ;! 67 8H 9A 128 3A FHIERR
—IR=F 10, 962, 000 267 8, 009 A69, 577 10, 900, 699
Rl =5 5, 856, 434 0 0 0 5, 856, 434
ERERAKRERENRE 2,252,000 2,252,000
‘SN EERSAIRE 223,328 223,328
TERRERENRE 2,318,904 0 0 0 2,318, 904
EEME 2, 156, 440 2, 156, 440
Y—EXFEHE 6, 595 6, 595
EANREMERY — EREE 155, 869 155, 869
KEEFRFRIRE 0 0
TRKEERR = 927, 500 927, 500
TS E A=A 60 60
BRESHRMTERRNRE 5,296 9, 296
BTE/ N\ ETEER R 99,102 99,102
BMERX 30, 244 0 0 0 30, 244
A ERXFRRE 1,240 1,240
=R E X R RE 244 244
BILE E X R RE 15, 400 15, 400
e H B E X R RE 1,340 1,340
=/ BMERENSE 2,620 2,620
B ERENSE 3, 400 3, 400
EERE 3, 352, 231 0 0 0 3, 352, 231
ERRARITFEREERE 1,139, 996 0 0 0 1,139, 996
YR 2 B URA 1,021, 900 1,021, 900
YR 2 49 3 1,021, 900 1,021, 900
BAREILA 62, 687 62, 687
XMW 118, 096 118, 096
KEEFXERG 2,212,235 0 0 0 2,212,235
YR 2 B URA 1, 465, 319 1,465, 319
YR 3 49 3% 1,538,918 1,538,918
BAREILA 180, 385 180, 385
SN 673, 317 673,317
aat 20,170, 665 267 8, 009 A69, 577 20, 109, 364




